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ions (Q- Nos 1 fo 30) by selecting the correct/most appropriate options.
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Assertion (A) ; Teachers should providg

~ Reason (R) - A Emotions and cognition are related g eath other I complex ways
Choose the correct option. |
(1) BOth (A) and (R) are false. L
(2) Both

(3)  Both (A) and (R) are frue but (R) is not the corrég_l;)‘egcplanation of (A).
(A) is true byt (R) is false, LN
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i learning difficylties typically S, 7
(1) ave very low IQ as diagnosed through standargﬁ;ﬁeﬂigence tests
() Have difficulties in reading due to thejy poor sight, =
(3) ave problems in regulati
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Vhich of the following statement best descy
’ >t describes teacher in progressive .
1) The teacher leaves the children ori thei; oxietro:j;}f{ t:il ;a:n ;: ;Zfroz,.m‘;sm education ?
2)  The teacher is the primary source of knowleq 0 Yo 00835040 4
4f  The teacher serves as a facilitator. LS
[4)  The teacher implements the prescribed curricylym £as-it is-
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Which of the following is correct in context of gifted children ?
/(ﬁ Gifted students learn at comparatively advanced pace than other students.

(2) Gifted children are free from risk of learning disability-

(3) Gifted children certainly excel in all areas academic, social and emotional.

(4) Gifted students are always happy, popular and well adjusted.
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As per Jean Piaget, pre-operational stage is characteriz » abilities to perform :
4f  Symbolic play and animism 2) < tion and seriation
(3) Conservation and abstract thinking (4 Imi and reversibility
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7.  What is the primary purpose of asking critical thinking questions ?

(1) To encourage students to memorize information. {3

(2) To enable students to develop pmcedﬁral knowled%s

3] Toassess students’ knowledge and Imderstandmgié Is.
@ To promote higher—level thinking and problm-solxgaggiskﬂls.
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10. According to Lev Vygotsky, children regulate theiy oy behavi

(1) Use of self-reinforcement (2) @:@esses of :;Vlour' through the

(3) Use of inner speech . (4) aptation

A, Erotess of equilibragy
Tl S % R, T A B TR ration
(1) wATEFEF AT @) @ | [qii‘“ FRE?

s _ : NS
V{T}}gh (.)f the following statement about deve‘% 4

INUOUS processng &
velopment e o L0 Procesd3
S -
4) Develo 1.2 spiral manner, not lineay

Opment AL T,
P i et g e St
() TR0 3 i ey o L O SR 2

®)  Foramg b
@ o Tﬁmﬁf@mﬁs ™
12 Which pe gogical Tomn O
to teaCh s Ca apprOaCh R .
oncepts of fone "R WOUld be adopted by irmly el
) S iy ™8 A siing t R iy e i comsrucivio
§h0Wing Videog | e fﬁhﬁ'g Lecture method

TN @)} Showing power po; AR

BRI Fi-qy IR = o V= g pawerp u}t presentation

A ﬁ%ﬁj@i@%ﬁwﬁﬁiﬂﬁgﬁﬁmwﬁ@m@mmm
(3)__._%&% o @) e

[T S B R ik

4 D




b

16.

Preconceived generalizations about behavigyy of various gender are called :
(1) Gender typing V«If‘

G $
(3) Gender discriminations ender stereotype

__Gender identi T
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In an inclusive classroom : iu

(1)  All children follow same CUIHCUIUInﬂd uniform pedagogy is adopted for all learners.
(2) “Special children’ always work on their.own curriculum.

(3)  All children have access to and are mduded in classroom activities,

(4) ‘Special’ children are looked upon as rzeedy and dependent.
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According to Lev Vygotsky’s theory, which of the following is a recommended approach in order
to optimize students’ learning experience % —

(1) providing students with work that t ='ﬁe'?;'ican manage and complete individually.

(2) providing students with work tha;: 1s ompletely unrelated to their current level of
understanding. £

(3) providing students w1th work that xg‘}nst beyond the1r current level of understanding, with
appropriate support and guidance. ~ -
(4) providing no support to students and leaving them to struggle on their own. .
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When presented with Heinz's dilemma, Arunima reasons : “The law wasn't set up for these '
circumstances. Taking the drug in this situation isn’t really right, but it's justified.”

Which stage of moral development is Arunima according to the theory of Lawrence Kohlberg ?
(1) Instrumental purpose and exchange_
(2) Social concern and conscience ?

(3) Morality of contrast, of individual ri; gh’cﬁ and of democratically

(4) Orientation towards punishment and “obedience accepted law
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‘While talking about her poor - marks in mathematics Avi says “Tjust don thave the sense for numberg”
i &
: 0
Avi is attributing his performance t

%1) Lack of ability ~ (2) Luck (3) Task difficulty (4) Lack of effort _
e —— kS A R “@ S o o 1 @ T e
T fefreR] oE @ € 7 ¢
(1) e w aE () e (3) m@m (4) e R
Assertion (A) : While some children start babbling and_ultermg two word sentences at 12 months,

others dor't do this till they are 20 months old.
Reason (R):  Development milestones are only suggeqhve and development of individua]
children can be quite varied.
Choose the correct option.
(1) Both (A) and (R)-are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A)is true but (R) is false.
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Which of the following is no_t a characteristic of a well-formulated critical thinking question ?
(1) It promotes higher-level thinking and problem-solving skills.
(2) It is open-ended and allows for multiple answers.

(3) Itis based primarily on factual information,
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(4) It requires analysis and evaluation of informati : e
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Assertion (A) : Teachers should constantly
with children.

Reason (R) : ~ The process of problem-
Choose the correct option.

(1) Both (A)) anccl1 gg are iralse. .

(2) Both (A) an are true an is _f_he correct explanation of (A).

((i)) ?zﬁs(ﬁll:%it(l&)a;e f:;;:.bm (R) ]‘g:gt the correct explanation of (A).
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21. Assertion (A) : Classroom pedagogy should be culturally resp;onsive to meet ‘rhe’needs of students
from diverse cultural backgrounds.
Reason (R) :

€Xamine their own attitudes and biases while working

solving is hindered by functional fixedneés.
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Equity in classroom can be ensured only through standardized curriculum and
assessment. - :
Choose the correct option.

(1) - Both (A) and (R) are false. L _
(2) Both (A) and (R) are true and (R) ig-the correct explanation of (A).

(3) Both (A) and (R) are true but (R) ig%;gi'the correct explanation of (A).

(4) (A) is true but (R) is false. Gy s !
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Howard Gardner’s concept of Intelligence implicates that : -

(1) intelligence is only about ‘practicallearning. %

(2) everyone processes and understan@e world in the same way.
(3) human beings differ in their abilities in different domains. |
(4)  intelligence has only one dimensioft
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23.  Which of the following is not an effective memory technique for meaningful learning ?

* 27.
(1) Elaborative Rehearsal (2) Rote Rehearsal
(3) Mnemonics (4) Concept Mapping
Trfafed 3 @ 259 9 s dran & fa o g wfa awre @l €2
(1) o e A2 w1 a devE
(3) W werme fafus (4) dgew fem

24. Which of the following sequence of represerftaihon of concept is in accordance with childrer s

gradual development of cognitive abilities ? ==
(1) symbol-based, image-based, action-basegl.
(2) action-based, image-based, symbol-based -
A3 image-based, symbol-based, actlon-based__
(4) symbol-based, action-based, image-based
Freefiad 3 3 sraemon 3 e H EH- ~ 1 ShH STl Y HIT gl 3 S o % o
(1) Hg-enuifa, sfe-snefi, fFm-enafa &2
(2) Tora-smufia, sfy-snuf, Shd-snefa
(3) Sfa-snuiia, Hha-snuit, Fan-snenfa
(4) E%a-snuita, forar-snufid, sfe-snufa
25. Assertion (A) :

28.

Teachers should focus on asking questlons in classroom and encouraging children
also to ask questions rather than gwmg instructions.

Reason (R) :  Child-centred pedagogy means. ans giving opportunities to children’s voices and
- ensuring their participation.® -.“L__h ;
Choose the correct option. ' £t
(1) Both (A) and (R) are false. g1
—2) Both (A) and (R) are true and (R) is thezorrect explanation of (A).
(3) Both (A) and (R) are true but (R) is not ‘th_”e"correct explanahon of (A).
(4) (A) is true but (R) is false.
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26. Jagriti has learned that her dog, Rusty, is a @o'Efien Retriever, When she sees another dog th::
looks similar to Rusty but is a d]_fferent breed; she calls it a dog too, According to Jean Piage
theory of cognitive development, which concépt does this demonstrate ?

(1) Assimilation (2) Epotentrism
£3) _ Object permanence (4) Conservation
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ral children, ﬂllosedWhOl ?Xgel'lfé;\ifd Sle\’ere (human) social deprivation since very young age
;ua].1y have‘de agg Og n eie_ I'Evle Opment and despite rehabilitation the improvement i,n
rtain doma{lis of deve opmen_ 18 likely to be subordinate. This period wherein development is
gnjfican’dy influenced by environmental support is called o

) sensitive period (2) %(niec\iuctive period

) intuitive period (4) (nAtve period
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Repetitive and ritualistic behaviour is an identifypmg characteristic of :
(1) Cerebral palsy

(2) Autism Spectrum Disorder

(3) Learning Disabilities :

(4) Attention Deficit Hyperactivity Disorder
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Which of the following would support continielis and comprehensive evaluation ?

(1) Standardized intelligénce test &L J (2) Best works portfolio
-3) Growth and learning progress portfolioiﬁ (4) Standardized achievement test
Trtfated 3 § -1 P 2R e e et qae= HTm 2 :
(1) AFEEa dfg Tae | (2 IS wE dEwieE
() dfg i s1frm Wi Gwiieral | (4) WA U T
. ‘t’l\}’lhlch of the following is correct about the process of learning, according to socio-constructivist
eories ? :

~%) Learning is a social process of meaning making,
(2) Learning is an individualistic process that-occurs in isolation.
(3) Learning occurs only in a classroom or formal educational setting.

(4) Learning is a passive process that occurs solely through observation.
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MATHEMATICS | 1frg

following questions by selecting the correc{/mos
the

t appropriate options,
D i 57 £ % T W/ Iy ey e
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d+2 tens is equal to
1d +13 hundre

31, 312) ﬂliu;fézo (2) 12132 Siag 130132 _ V(Ar/ 13320

12 € +13 T +2 T TR E ™

(1) 121320 (2) 12132 (,3:),1._ 130132 (4) 13320
32. One crore is: R L% I - i

(1) hundred million Q/ ten million 0) % one million ~ (4)  onebillion

1) & fafeem 2) <9 fafeem

33. Which of the followin. ‘Tesources is best suited 'to explam the concept of decimalg ?
(@) Number Chart _(b)  Dienes Blocks '
(€©) Taylor's Abacus

S (@) M
Choose the correct option : ﬁ;j?
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34. Which of the followmg letters has no line of symmetry ?

3.

1 X @ L @ A @ ™M
ﬁmﬁf@anﬁmamﬁaﬁéwﬁa%@ﬁ%:} |
X @ L R Ll " e
SPACE FOR ROUGH W ﬁg/wmﬁ%mm
| | .Y
(D

gl T 4.




—

In a certain week, the number of patients in a denta] clinic was as follows : o=

'__—Bay Number of patients

Monday | 25 -

Tuesday 38 E” | ‘ 0
Wednesday 45 _;: "‘"0‘ |
Thursday 18 _ .Y v
Friday 36 L)

Saturday 39 ‘ m;:

Based on above table, choose the wrong statement :
Total number of patients was 200 \P
(2) Range of the data is 27 e S
(3) On most of the days, number of patients was more than 30 '
(4) Difference between the number of patients on Monday and Wednesday is 20 ‘/
ﬁ@mﬁ@ﬁﬁ%@mﬁqﬂﬁaﬁmﬂ%ﬂaﬂ; |
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37.

ing is true ?

(b) x=y:y=p-q:q

‘ the follow
: g, then which of the
fx:y=p:9d

1;+1;:y==}1+q:q (d) x+y‘.x-—y=p_q:p+q -
((3) x; i””"}(c, @ () and (b) (3) only (c) (4) (a) and (d)
5) and y i £9
--(?);gzq,ﬁﬁﬂﬁmﬁﬁﬁqma?iﬁé_ L
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Which of the following Indian mathéﬁﬁ’ticians are known as founders of ‘Numerijcy
analysis’ ? imgh

@ Ramanujan (Il)hgg‘ghaskaracharya

(i) Varahmihir -(ivgr—::gxryabhatta

Chpose the correct option, |
J”W Qand® @ Qand@) @) Gand (if) and (iii)
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38.  Which of the following statement(s) is/ard tiie about numbers ?
(@)  All positive integers are whole numbegss - &
(b) - All whole numbers are integers, ;ﬁz
\\'& ()  All rational numbers are real numbers, .
[5\ (d) Al irrational numbers are real numbers, -
_..)' Q Choose the correct option : : o o
\i@ " (1) (a) and (d) @) Only®)  C8) ony ©) @ (). (0 and (q)
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\e main approach suggested by National Curriculum Framework (NCF) 2005 in teaching learning

- mathematics 1S :

? Constructivism  (2) Instructivism  (3) Pragmatism (4) Behaviourism
@Wﬁgﬁwﬂ@ﬂmmgg@ﬁm%wm st B T R TR T
1) AR (2) R () swifmEE () TR

Students in a class are solving questions basedDH percentage discounts. One question requires the

<tudents to calculate the cost of two bikes, Withta 8% discount on each bike. One of the groups
calculates the total cost of the bikes and then Eﬁd@cts 16% from the total cost. The method used by
this group is: o '

A

(1) False, since they have deducted 16% flffﬂ.;ﬂ"ithe total instead of 16% from the average of the
 total. _ La

(2) Correct and is the only way to calculate the discount and cost.

(3) An alternate strategy to solve the question. '

(4) False, since they have deducted 16% discount from the total instead of 8%.

@WﬁWW@W%HﬁHMﬁWR@%i @Wﬁﬁ@ﬁﬁﬁmmﬁm
WS%@%wé‘rm@w%ﬁtﬁmq@wﬁﬁw%l T T S HIeER Rl %
ﬁﬁmmﬂm%aﬂtmwnﬂ@%mwﬁm%r =4 ToE N Ja & T fafd

E = =

/(;y{ o & s SR $a I ¥ 16% Hie s 16%3@@%?311@@1
@) a@%ﬁ%%@;@l@mmm}ﬂmﬁaﬂ%%l
®) v 51 T T S SHieas HEA€ ¢ £ '

(8) e % s SR g ged § S%aﬁwfiéijg%?gwan

) o

= =
=

ok

= =

=== -
41. While teaching equations a teacher explains therencept of a linear equation having unique solution.
She further asks, “If a solution is given then how many equations you can create” ?

Choose the correct option :

(1) Two equations /(21’ One equation  (3) No equation  (4) Many equations
mmmﬁﬁmaﬁmwﬂ%ﬁﬁmﬁ STIYTON 1 TS S 9% ST I
“mwmwaammﬁmwm%”?
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42. Two columns are given as shown below :
- Column -1 Column - II 1(- _ 45.
(a) face of a black-board (i) two end points {}\ﬂ\ '
| (b) aline has (i) one end point \ “z),y
(c) a ray has (iii)g:“gfgpresents a part of a plane
(d) a line segment has (iv) {v”fig definite length /‘?

Column - I and II are matched as:

A @)-G), b)-Gi), (-Gv), @-E) I
@) (a)-Gi), (b)), ©-@) ([@)-(v) %2
(@)  (@)-(id), b)), (©)-(), (@D-(V) e
 (@)-(i), (b)-Gv), (c)-(), @@ s 2
HASERECEIE X g .
W - 1 WD
(a) ¥AUE N TF AR () " ofa fiig A ¥
(o) ue v (i) o o g ¥ :
(9 RIS (i) T T T T RE A € T
(d) TH@EE® (iv) =1 Tafeea warg T 2t 2 7,0 Wq«
wWa-IROwfem € i : \_q,“o\::w
@) (@-0), ®)-(ii), (©-1v), @-0) .~ A 1
@ (@-G), ®)-G), (-0), [@-v) == N
@) (a)-Gi), (b)), ©)-6), (@-6v) EFT
@) (a)-Gi), B)-Gv), ©-@, -0 £F A
S | A5
43. If (7 * 2) X (123) =92496, then value of ¥i5: / 7 47.
A1 5 @ 2 o ) @ 4
e (7% 2) x (123) = 92496 &, T * i qAe
1 5 (2) 2 ;ﬁ @) @& _ @) 4
44. - Saﬁmya j;)ined her job on 13-01-199;zfd.she'took retirement on 31-03-2023. ‘Duration of b
:%‘V icglw;esai‘s 2 months énd 18 days  (2) 30 years 10 months and 19 days
) ears 9 ths and 18 days (4) B1yeas 2 months and 19 days '
gﬁlzn :g')’folz’:-{)alr—l'5'91?%n aﬁ;&n FHET 3213;%1 ferar 3iR 31-03-2023 =1 3o Yatgh | il <o At ?
arafy 4 :
(1) 312 A 318 e ¢ soaﬁlanaa;i?wg o
(3) 3079 iR 18 & R g1 9 2 AR R D Y
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[n order to identify individual differences c:#f_.ﬁwtude11ts in the mathematics class, which of the f i
assessment technique will not be approp -ia-te;}?‘.?__! o hen 188, hof the following
(1) Peer assessment

(3) Formative assessment

(&Ssuﬂﬁnative assessment
; e (4)===Diagnostic assessment |
o 1 e ferenfeiel oA o HhsTEmH % forn Frefelad § § B e aehHis SR

A1) TR SR FA R o
(3) T SR | (4)5“3% STTRETH

Which among the following is /are true ébo%t the compﬁtal:ion in basic opera
learners ? _
(a) Itinvolves child’s ability to develop informal strategies.
(b) Itinvolves child's ability to estimate.
() Ttinvolves child’s ability to do calculations with large numbers.
Choose the correct option : R
¥ (a) and (b) @ Ony@©  __ @) (Band( 4) (a) and (c)
eIl ¥ SemEeRdie & o SR Wﬁﬁw%mﬁmﬁmﬁ@ BT T 2T 2
(@) O T w SR S ol SIS T O G W g 1
(b) Iwﬁﬁﬁmﬂwﬁﬁmqﬁﬁ%ﬁ%r 8 4 s
(© T 9 wensl % W e O ) I H1 4 FHERC € |
o fwe - | . ?g S
O @IFE @ FEO 'ﬁ@ @IREO @ @O

tions for Grade-II

T
S §

47. In a mathematics class a teacher explairiﬁg:% concept of different angles. He/she realizes that
scissors is a best example to explain @ g S
~Aaf  Vertically opposite angles () Linear pair of angles
(c). Corresponding angles (d) Alternate angles £
Choose the correct option : , e g -
0 Bl @ @ad® @ @EadEr @ (9and @
Tiftra e 3 faerss To=-T=t ol ST 0 TR/ &R 2T ety d & SR

=1 grer & fere TEraH ST €| ¢y |
(a) wisifmg@ O | @ﬁﬁﬂﬁﬂ%ﬁ@ﬁgw ;
T faeed 94 ¢ "o

1) (b) &R () 2 @R € ﬁé (3) () 3R () @ (@© i (d)
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48.

49, -

50.

51. #

~ Choose the correct option.

G5 o
1233210+ 5555 — 222 is equal to | il
= L 1 2 ; 9V

(1) 3 2 1 £4) 0 @ 2 \s‘ga@;
1233210+ 5555222 SR § _ v
(1) 3 2 1 e o _ 4) 2 (s

I i

3 12 . : ;
Arrangement of fractions l, —1-, ey ﬁrﬁgcreasmg order is :
_ 9 21" 7" 63 I\

1 12874 3L 18 Ly 8 Y A A 123 1.1
D 9879 @ 79600 7aova @ &7 9
o 2, 2 12 o v g o ot e ol e 8
9" 21" 7’ 63 e T

1 12 31 0 s o 392 1 1 123 91 1
D owrs O rvean® rEaen ® wrms

- One egg has a mass of about 65 g what is the mass of 2 dozen eggs ? _
(1) 1kg54dg 2) 156kg () 1kg56g (4) 1304 kg
T 318 H1 ERAT T 65 g 31 2 TSI S 1 ZoA fhe €2
(1) 1kgb544g 156 kg @3) 1kg56 g (4) 1304 kg
“Which of the following represents the featm of a mathematics laboratory ?
(@) Itisa place to enjoy mathematics informal exploration.

(b) It provides opportunities to prove mith matical theorems through experiments.
() It provides opportunity to make conjectures, test them and to generalise observed patterns.
(d) Ttis used to assess students’ knowledgeiof mathematics and grade them accordingly.

= %
Oand@ Q) @and(@ S2B) @and(@ (@) (b)and (@

st = & %21 T = e yelvraen e ) Frefi e $ 2 ALy
@) ol o & g v § s A ey, L i
(b) =T ST 3 R0 Ui e 71 fors shet 35 oferer e et &1 55
(©) %ﬁwm,mﬁawaﬁﬁ@mﬂﬁmmmﬁ%wmm%
(d) WWWM%W%WWWW%WWWW%%%WW

) O AR Y
wd e 3 - O s
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54.
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y L4 4)’2> 2> ;3;‘()"55)'1!) e
v/ ;
(‘.’-gnculum Framework For Foun;iahonal Stage (NCFFS), 2022 highlighted the importance
¢ thefollowing components while teaching an abstract mathematical concept :
%,) Written Symbols (B)— Experience )

on

() Spoken Language _ (d)==Picture
Which of the following 18 the appropriate sequence of these components while teaching an abstract
mathematical concept ? il
(b) = (= (D> @ () .(©) = (&) = (&) > ()
® B-0-0-0 @40 = ) > (@) ) /

e w3 T T e R ( 579 U T ), 202273 T v axaRon 3 foe %
T Srefated Tl & A W YR STl |

(a) fﬁf@ﬁm EF

____anga
(©) E-= Sl H (d) fe= |
WWWW%WW#WWWWWMWWW%?
1) O-=>@Q-d->@ 2) ©-=(@—> (-
@) () —(@©—@—~>@

4) (©—(d) - @~ b)
Raju has turpentiné oil in 5 containers each of 20'L siz.e. He fills them in 10 cans of 5 L, 10 cans of
21, and rest in 1 L cans. Number of 1 L cansfilled is : | o

(1) 28 2) 25 = () 22, |

m%mmzuaﬁmsaﬁ%‘?ﬁtﬂawﬁa%n_m.sﬁna@maﬁ,2Larér
10 S SR SR 1 L A A H o DL e a e € | -
1) 28 (2) -

55 1 -+ PR 30 W {4) 22

Which of the following learning experi;'__:s for children does not reflect the contribution of
‘mathematics to everyday life and society?—~. ' Tt
(1) Play small group games that draw onUmathematical skills and concepts.
(2) Communication of mathematical idéasn writing using both formal and informal languages.
(3) Meeting people from different areas of employment and exploring how they use mathematics
in their work. : I i SR an
(4) Collecting, organising, representing and interpreting data in day-to-day life.

Frtfiafad & § 931 35 R B W ST ST WS el R Sfer # o < A i wfafste
FAE 2 ' |

(1) ﬁwaﬁ@@a@mﬁnﬁmm@mwaﬁﬁwwmﬁa%
2) Soarr TS SEEeE s S o SEan W i o s fataa | g
)

TR 35 et et £ 3 i 2 P En ST e 2R & ST o v o v R
FW E |

(4) 2 S H o= S B T

FT=gErater %, Frefm e qun wfaofea s
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55. 22 hm 8 dam is equal to :
(1) 22080 m (2)
22 hm 8 dam SR § ;

(1) 22080 m )

22800 m (3).., 2208 m

:ﬂfﬂ

" B "
[.wil st}
" I [yt

il

i
|

22800 m (342208 m

1

58.

\)5/ 2280 m

(4) 2280 m

Which of the f
that are logica

(a) The conc
of numb

(b) Multiplic
(c) Number.

Ll

w =
. g‘%“ﬁﬁ-g
56. A mathematics teacher discusses the c

understanding of students she gave an example with four points. If the curve is open
of four points is ;

(1)  Three of them must be non-collinear _(2)  All are collinear

()  Two of them must be collinear = - (4 Three of them must be collinear

L

¥ -
=

T e

{71

i

T 5 i = g v o o e ferenffd 7t S v o

I =R feigetl % e uw e 6 Y SR =5 B T R foigel 9 fafy § .
R 19

El
T

(1) =7 & 9 o 2% e -(;;wﬂﬁi@%-- |
®) 8 A Wt B e (A1 4 et 2y e

57.  Two angles of a triangle are 50° and 3(°. Then, the third angle of the triangle is :

oncepf 0k open and closed curve in class, For better
then Nature

Choose the cor
(1) only (b)
Hg9 i 3
GE_IQJ\U] %2

(2) i i
(b) T,
(<) T 915
ECREETS R
(1) = (b)

59. The difference bx
3,%9and 6is -

(1) * 851731
H 5,1,0,3,9 ;
(1) 851731

60. The missing nun
. % ., 43, 47, 53,59, __:
(1) 80 A 100° _ (g%gm 4) 60° A 65
T Pt 3 2w 500 e age ¥ @ B g 15,47,53,59, 2
' Eﬁ-ﬂ (1) 65
(1) 80° (2) 100° (3)_y.40° @) 600 BY L el o
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Which of the following are correct examples of the statement “mathematics is hierarchical in levels
that are logically str ructured”.

. ..,,w_..i

() Theconceptofintegers needswbe developed before the concept of multiplication and division
of numbers.

...._-.-‘

.':E..-»_

(b) Multiplication follows and bmlds on the concept of addition.

() Number sense needs to be déV@lOP@d before the concepts of addition and subtraction.
Choose the correct option :

(1) only (b) @ @angk®) 3 (b)and () (4) (a) and (c)
W“Wmmﬁﬁﬁﬁm%ﬁmmﬁmﬁw%”ﬁﬁﬁqﬁﬂﬁmﬁﬁaﬁ‘—l—ﬂﬁ
T T ?

(@) ol ) S R HETe 35 TV S o 9 areon 4 g e e ) S A
(b) TIW, S I SO 1 ST el & 3 39 W foehfiee et |

(c) m@aﬂﬁnﬁwﬁmmﬁ@mmﬁmaﬁ%l

O FEE @ @AH @ O (é) @ @3

9. The d:fference between the greatest'_"?i sma]lest 6-d1g1tnumbers formed by using the digits 5, 1, 0,
3,9and 61is : : :
(1) * 851731 2) 8617@?"-—; (3) 862731 .,(4)” 951741
%% 5,1,0,3,9 ﬁns%aﬁm@ﬁaﬂtwﬁ@ﬁ@mﬁmwm%
(1) 851731 (2) 861741 - (3) 862731 @) 951741
60. The missing number (?) in the follovéing: I o . 4 9 Moy.d P {
43,47,53,59, _2 ,67,71,73is: - _
(1) 65 2 6 L @ 6 4) 63
13,47,55,59, _2_, 67,71, 73 F gAGEN () ¥ ; -
i kil ‘E} I 90)39”
(1) 65 A2) 61 [ J (3) 60 4) 63
. Bro SPACE FOR R%GHWORI(/T‘EW%WW 4 ¢ 2,3, 1/0
|0 )
a b’ % ey
019561 : ) ' ' ’
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& 3 yitys3y $4 S i
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o W TR 19 gga4! 145216 D
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PART - 11l / 9191 - 111
ENVIRONMENTAL STUDIES / 99{aRu] 30

Direction : Answer the Jollowing questions by selecting the correct/most appropriate options.
PR : Pt weal 3 se 2% % (o7 WEl/Aa SUgaRT ey ghg |

61. Consider the following statements (A) and @T@E
Statement (A) : Crows build nests on very IQmL_____branches_on a tree.
Statement (B) : Weaver bird stitches two leaves to make its nest.
Select the correct code from the following : =

A1) (A)is wrong but (B) is correct.  (2) (A} §md (B) both are correct,

(®)  (A) and (B) both are wrong. (4) (@) is correct but, (B) is wrong.
ﬁ%ﬁqmm(maﬂ(m)mﬁﬂﬂml Ty A
HAT (A) : ﬁwﬁgﬁwﬁwm%@g%l
AT (B) : e waft < i Y W ST S s ¥ \y%
Frfeted # ¥ v = gfm '

(1) (A) T & =g (B) T B (2 (A) R (B) 3 wEF
3)  (A) 3R (B) ST o ¥ (4) (A)aﬁ%m(mnm%\ '

EVS at primary level is recommended to be transacted in an integrated approach. The most
appropriate reasons are : : : S - - :
“(a) EVS draws issues from subjects like Scieace, Social
“{b) Tt helps in developing holistic understariding.
(c)  Ithelps to reduce burden of students axd teachers.
(d) Itis convenient to teach integrated EVS:— : : |
h @md@ @ Qad@ 8 Goad© 4 (@ amdp)
mwmm@w@ﬁMﬁ@ﬁﬁWﬁfﬁmﬁmaﬁw%! T ITE W
g _' (Tax. &0
(a) =R Forwell & ) % TR v & T, Wi fomm iR et e
(b) IR T T foeniea Y weg
() B AR Rierwhi % ol ) w5 vt 2 e e 2
(@) TRl T e Y

1) (@) R (@) ) (o) ¥R (q)

64.

62.

Science and Environmental Education.

I
1

i

i

JORLE R S A

. out elephant heg;jgrom the following :
(1) Male elephants of more than 15 years of ag

o
B - el g ey G € leave the herd and moye around alone.
(3) A herd has 20 to 25 female elephants afd Their vq
L (4) ‘.Male elep‘hants live in the herd ] theyard 14 —%5?;11?“;&1-.
R 3 73 3 o ot o Y g
(1) 153&%&?%%@%@9&%%%@%%@ :
. . dr o ¥ 2=="'3 \
2 ﬁaﬁmwﬁmﬂﬁl B By l
3) @mﬁzcﬁ%ﬁﬂﬁﬁ-aﬂi’mﬁégé
(4) T 14-15 3¢ 5% g '

63. Select incorrect statement aboy




—_—

64. You are located at X and your school is located

65.

66.

67.

is: \
v@'f South east (2) Due North

M Eg| W L

—

: A5k atY. There is no straight path from your house to
your school. So you first go to A which is about 125 m due north of X, then go to B which is 75 m

due west of A, then go to C wlu'cl‘1 is-about 150 m due north of B and finally reach your school at
Y which is 75 m due east of C. With respect to your school at Y, the correct direction of house at X

.p{3) DueSouth  (4) North west

3R ¥R X W feerd & qen avmuent foee Y ”%;ga%l 3 =X W ferermer 7 W for 7 ot we
T o7 Y UER A W § W X F S .f‘gwmusrﬁaaﬁgﬁm%,ﬁmmswmfé,ﬁm

h

¥ S aimm H 75 ﬁaaﬁiﬂﬂ?%},ﬁmmg U € S B % Stk 3T H o 150 Hew off w £ o

WﬁWYmeqﬁﬂﬁﬁsﬁC%w;ﬁﬁ 75 et B T W1 Y W Ak Feraer  wmi

- X T ST VR wE T e 2 s
(1) = @ FEIR @) FweRm (4 T Rem
()

There is a species "X’ of plants that grow in a huge number but is found only in “Y” part of India in
the whole world. Which type of species is it ? :

(1) Endangered - (2) Abundant

(3) Exotic (4)  Endemic _

e <R G S X’ R g sifereh T # Yar ait & e R e F wRa 3y
e 569 TR 1 et €2 |

. Sy A \t
@ PR WIFTD -

Select from the following a group consisting5f alloys.'cmly .

,91’}’ Steel, Brass, Broh_ze - (Zj'#;&Brass, Bronze, Lithium
(3) Magnesium, Aluminium, Steel  (4) ;f‘v:%teel,_ Brass, Tin | v j% %
fireiffaa § 9 39 998 %1 9F S e § ‘ Ly

(1) i, 99, Fis (@), i, fafm
(@) eifum Tefatem, a0 @) w9, 9, o

An EVS teacher asks her students to imagine and answer, “What would have happened if all birds
were killed at once from earth ?” Such a ggsgﬁon is ¢

(1) Philosophical question (Zifjfonvergent question

(3) Hypothetical question (4_?3 jﬁpivergent question

e Sem ot 1o DAl & e e oI gy &7 & fere e €, e v sty DY
T Y AR T < 2 v w k.

(1) wif oA (2)-efirarl A AN 3m,

(3) et ¥ ‘(Aijﬁl%!mlﬂ b o T8 ¥l

Fhowd
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i ame day :
68. Itis 7.30 P.M. in India today. Itis 2 P.M. of the same day

(1) in Karachi Q«)’ h{L@gdon (3) in Japan (4) m Dhaka
T # 7.30 PM. ¥1 3t fi 2 MY A ¢ | )
(1) s (2) <& A (3) S H () wEH

69.  Which of the following sﬁateggﬁ%motes inquiry while teaching the theme ‘Travel’ ?
(1) Showing pictures of vari?"!?lﬂfgplaces of interest in nearby areas.
(2) Asking students to couec;}‘f‘gl?lures of Yaripus means of _transport. :
(3) Asking students to narrate their or their neighbours’ experiences of travelling.
(4)  Asking students to make a digital presentation on vintage cars.

it & @ i ot <orffe Ao’ O 1 Tewm T St (o) T 32
1) m~m%aﬁﬁsﬁ%ﬁﬁﬁmwﬁ%ﬁaﬁﬁmt

) wam%wmqﬁ%mww%mm|

A3 BT s vy R A 3 S ) T 3 e

St
* g =
Y [

ﬂnﬂ

B

@) mﬁﬁgﬁmﬁm%ﬁ&mﬁrﬁ%ﬁqm|

70. A teacher follows the fo]lowir?:?:ﬁethods while teac
Tutoring, Jigsaw Strategy and Péer Review. These
(1) Inductive approach i&:i‘_:

(3) Constructivist ::qzvprbach"f-ﬂ:_:‘{W&_:-“'=

hing EVS : Think-Pair-Share, Reciprocal Peer
are examples of : '

(@] Peer- group learning

(4) Dida'cﬁc.approaéh

<o et o U e Frfafan fafert @ o e - HI=EI-SIS- 9= F:1, TR T
FL, TS (igsaw) T, Wewdt e 3 S E

(1) SIS ST 2 oS T T e
(3) THEIRHE IUrH  (4)  SUYTHE SN

" .n )
71. Saleem and Raju are young schiGal [poers. Saleem likes to eat lot of fried food and ‘maida’ products
Raju on the other hand eatg 1,

made healthy food but he never eats spinach and other greet
leafy vegetables, Which of the %ollowing disorders they are likely to suffer from, respectively ?
(1) Pellagra and Anaemiy *

(2) Scurvy and Anaemia
(3) Kwashiorkar and Angers; ‘E '

~—~@J Obesity and Anaemia

el I T et ST a1 ey I L e g T 97 e & o1 S g e | e a0
R T G W Y| e T e ok o T TR i it e ar &1 9 @
Freafetfer & & swm: o o) e 9 2 e &2

(1) T SR erfifiwy

(2) el i attfiren
- (4) R SR SR

o1 AT e | g

3) ﬂaﬁ@wmaﬁﬁml
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72. Map Reading activity in EVS classes develops certain abilities and skills in primary students, Those

73,

74,

are :
(a) Understanding relative posﬁﬂoﬁs of places

(b) Understanding directions of ches
¢) Understanding symbols an fscgle

(

(d) Drawing precisely accordmg To the scale maps

(1) (b)and (¢) s @) (@), (b) and (c)
3) (), () and (d) O @ @) (and (a)

T et

() ~ Weltehl 3R =R i T

(d) hﬁ%m%mmmﬁwﬁ@m |
(1) () 3R () £Cy 2 () () 3R
) OO @ ﬁf@@mﬁ@_

dtive locatlons of Gujarat and Bihar are :
4y North west; North east (2) North west; South east

i

(3) South west; North east ? (4) North east; North west
AT 3 HI T 3R forem aﬁia:ﬁg feerfeal € -

(1) W ufesm; SR @) R fvEm; afer g

(@) =fe ufvem; IR (4) W 9E; SR 9femm

Which of the following best reflect experientiall strategies in teaching EVS at primary level ?
- (@) Discussion (o) (b) Demonstration

(c)  Field Trips Q}E (d) At integrated learning

(1) (a), (b) and (c) UI (2) (@), (b) and (d)

(3) (b), (c) and (d) g @ @) () and (d)

ﬁqﬁﬁﬁﬁﬂﬁﬂﬂmﬂﬁﬂ?wmmmﬁ STATCHeR WA 1 Wl sreon ey &2

(a) Fiw)mh

| s

(c) &= 9 ™y (d) hem et TR

1) (@) () 9 TR @@
A3y (b), (o) & (d) @) (), () W (d)

el T 23
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76.

7.

Environment in EVS means :

(@)
(©)

Jebeg
ﬁ@ﬁﬂ?hm, SR

()
(©)
@)

Read the Assertion (A) and Reason (R) below
Assertion (A) :

Reason (R) :

(1)
@
(3)
4)

(b)
(d)

Man-made environment
Social environment

@), ®), () and (d) (2)

RISERE TR o Er
WISTR yafer)

@), (®), () @R (d)

(b)
(d)

@ (a) ¥ (o)

(A) is false but (R) is true. ..

]

15}

Travellers like Al-Biruni and Ibn Batuta travelled from
Travelling led to sharing of ideas between people.

Natural environment
Cultural environment
@ and (b)) —(3)

®and (© @) () and (g

fu

fr it

nmmapue——

W

Tl T

H

g aferor 3
(b) 2R ()

1050)

LEL l[i

-S'm

s =

) (@ ¥R (g

zad, choose the correct option.

iHHE]

gt Ty

India to different Countries,

Both (A) and (R) are true and (R) explains (A).

Both (A) and (R) are true but
(A) is true but (R) is false.

(R) does not explain (A).

ﬁﬁﬁf@a&ﬁmm(mamwm)ﬁwﬁiﬁfﬁm@ﬁmmwﬁl

W@mﬁ@rmﬁﬁ%ﬁ%ﬁﬁﬁa '
A & i 9 -
(W) (&) e & g (R) W 31 oy
S 3 (@) o R) w0 E R, () ﬁmmjm%n
(3) i‘ﬁ‘f(A)a?ﬂ(R)va‘r%ﬁﬁ(R),(A)'aﬁ Ll
4) (A)E@%ﬁﬁ(mw%j B =~

Statement | :
Statement IJ :

ERTHHE

19y [

nstructivist perspective
(1) Statement I is false but Statement Il is true
(2)  Both the Statement | ang Statement II are correct
(3)  Both the Statement | and Statement II age-fglse
(4)  Statement I js pye but Statement 11 is fa:f‘-SEf;
HU | ﬁm%ﬁ@@ﬁ%mﬁmmﬁw@mﬁwmw%l
FPEATIL: < ¥ v S % ey - 3 TR ferm 3 o s e e
Wﬁﬁ g a‘"";‘%ﬁ ‘
. LR
(1) Wmlm%mmmuw%l Ly
(2) mmwﬂzmmuéﬁm%. L
3) TN SR T 11 2 e 8

D
24 _



the

@) Popular perceptions and biases about thd tribal communities.

(r) Close relationship between forest dWEHE‘-‘{;?E%Ommunities

- ) and forests,
(©) Girls education how it changes their life, *

(d) The forest products used by tribes, ;jé

(1) ([)and(© ﬂf@@m@

@) () () and (d) @ & ) and (q)

ST T A=l Rl Tl TR o e g St YA <t o e war 21 a7 Avm
mmwmwmm@wmm%wwmmmmmmmm@%m
Toe] T | )

(@) S SR 3 i S e s g

(b) e (W) iR ST T T A e 3 S S ey |
O T R S
@ﬁWMWWWWWMﬁﬁgﬁﬂ

COEH @ @0

® ©)© R @ @ @

7. “Record how the seeds germinate into saplingi?ém day 1to day 10”. Rita gave this task to her
Sézll-dents before teaching the lesson on ‘Germination’. She is trying to assess her students’ ability
(@) draw and represent (b) predict how germinating seeds would look like
() observe and record (d) infer ,from.the given activity
0 (@), ®) and (¢) (2) (a)and (b)

4 (b) and () () (EEt) and (@)
W fe 4 10 3 ot o i Fos e S H I ) Y s s s @ et e
et 3 oz et fea | e AR BT ) S SRR T SRR SN Y g T 22
@) o i e 7 () S S o e
) e 5% e faié (d) 'ﬂﬁémﬂﬁﬁﬂﬁﬁmﬁ
O @6 o © e b
®) (b) ek () () (), (o) ¥ ()
Py 2
Y gy :

¥ :



80. Mountaineers suffer nose bleeding at higher altitudes because :

(1)  Blood becomes thick at higher altifides.
(2)  The pressure in blood vessels excjgge?t‘_;l% outside pressure.
(3)  The pressure in blood vessels deg%ajt'es than outside pressure.

(4)  The pressure in blood vessels equals.the outside pressure.
W%ﬁaﬁafw%a@ﬁwﬁmggj%mwm%:

(1) st S e s o T ) S

(2) T i § <o el <o @ et @) s
Mmaﬁwaﬁﬁaaﬁmﬂmﬁmﬁr-m%

(4) T ifeTa & AT e T S e A R

81. Which one/are of the following mo ﬁ"gl'%s is/are considered to be volcanic in origin ?
(@ Mt Kilimanjaro _. (b) Fu]_]{;ea?%a (c) The Alps
Choose the correct option : N :

O @mdt)  @_@md@> @ Gamdo @ omy
mr@aﬁaaawmqaa/mﬁgﬁmg@ﬁwwm

GiE E M 4 ‘
(@) FReFRfES ) wREE
Fﬁﬁmiﬁ

(c) e aq
O @O @ @@ @ B @

82. Roshni, an EVS teacher displays a data chart for how many seeds out of 20 seeds each of musta
green gram, Bengal gram and

chilli se¢ds"germinated. She asks students to explain why variati®
in the germination rates of different se@svgtmcur. She wants to assess the skill of :

(1) invesﬁgation ; g;;ﬁé expelriment
(3)  prediction ' 3%@) drawing inference

: : '3
arf, i e o e, <, T < st it e 20 A48 et ot O T

L S e SR | i 3 A e e o e 4 s 7 e
LRk R L ———

e

0 (@
) T (0 e
REANEL P
p-t NNy o



0

Stories and narratives have pga, » )

n sed. y
Objective is to sensitise the chjjq ¢ throughout the EVS textbooks

£ ince he or she can empathise with characters in
a story or narratiVe«Textbookg g doid » i
exist within our §eibty, hould sensitise the child to wide differences that

The Assertion iS false but Regison is foi

Asserﬁ-on :
Reason *

ertion and Re: - |
@ Both the Assertion BOn are correct and Reason is the correct explanation of the
‘ oy

Assertion. { W1

0) Both the Assertion and Rea

e :
y i%i#:sare correct but the Reason is not the correct explanation of

() Assertion is true but the ReaSon is folse _
et ;SO WG b s s o e e e ¥
FW 2 S o6 o 1 Wit ifer a5 FEF & B % WY qeryf T g |
. TSR S Sl TR I 3 SR g, s WAl 3 W darerreiier 1 =t |
(1) WW%,WWW%I |
py" wvEhe ST RO SR W ¥ i o, sifumen o wd e e €|
(3) fERe AR T € AREL s, afrewem 5 v
(o) R T &, T R S R
Pag 3 e wa
Ona Union Territory map on its She corner following scale is mentioned.

Scale, 1 cm=155 m Y

b
]

ST e H § |

If a person measures the dlstancegﬁ?tWeentwo cities as 197cm, the actual distance between the
two cities is approximately : Ll S R 25
0. %5km () 30EFy () 3L0km g 305km
Tt 3z e o 3 AT ¥ T S W A T T AR 8 i T R
WM, 1 em=155m % Cmm B |
e 1 ferg T T T S IR % o gl 19.7 con WIS SN WEd ok sft= it Sqrates
@ 305km (2 310km (3 B3100km (4 305km
5. The volume of the earth consists gfidge following : 0 | S5 = Gor
@ 1% Crust (b) -§adh Mantle Wi 188 Core -
Choose the correct option from th%igllowmg J 4 _ o055
A All (a), (b) and () are corregh, [ (2) Only () and (b) are correct. @
) Only (b) and (c) are cor;‘_ectg s (4) Only (a) an (c) are correct. ] 7& 7& ' jfj»
VR o Pt By e e
b : m 0
ﬁqr[\af@?(a) e ﬁﬁm—ﬂﬁ({g) éﬁ, \ ;LquLo'N'B
ki ¥ 2) et (o) 3T (b) VR \-0
SV 3R (o) T 4 : :
(a), (b) et (a) 91 (©) T €1 q19
@) Eero (b) 3R () e € (4) (@) ‘\,Q/ S o

14 h}" ‘[; 0
B 27 Yoo
' My Shina U L



following Assertion (A) and Reason (R) and choose the cor
Read the [0
56.

asily float on the surfac
ion (A) : People can e
Assertion (

Tect optlon
know to swim.

e of water of Dead Sea even if they do X
Reason (R) :  Dead Sea has 300
&

gm of salt in one litre of way mak
salt concentration, Hermaking it, the sea ha‘“ng hlgh‘est
(1) (A) is false but (R) is true,

4 gﬁi
(2) Both (A) and (R) are true and (R) explfﬁ

88.

ia
(3) Both (A) and (R) are tyye but (R) doge ﬁaﬁxglam (A)
@) (A)is true but (R) is false, o aﬁg
Frfefem SR (A) '
AHAT (A) ; :
HRT (R) : gﬂﬂvgﬁmﬁaﬁﬁsoommmm%sﬁ@mwwmwm
4 (A) TTeTa ® forg (R) W& &)

@) é‘ﬁ‘r(A)qa(RWﬁ%am(R) (A)ﬁaxr@mm%a
@) a‘ﬁr(A)qa(R)ﬂﬁr%m(R) (A)w'\sq‘i-g%

ﬁﬁ T
Ry e
: 87. AsanEVS teacher, you W1sh your students ték%é* e aware of thelr own safety around adults so thd
they (can take care of themselves and) do not f‘aﬂ*l}prey to sexual harassment, Which step you this
1s most appropriate ? 1 ?&ﬁ
(1) Hold self-

defence Workshops for girl stu‘dents
(2) Teach them about POCSO Act 2012

(3) Teach them to avoid strangers

(4) Hold workshops about ‘Good Touch’ and ‘Bad Touch’ Iﬁwé
FW
@mmﬂ%“@ﬁ 39 =R ¥ i amn fornedt awﬁt%ﬁwwm:ﬁgm Tt
20 mﬁ(wi*@wmawmammaﬁﬁmm TR I T S TR T
e Wﬁf%ﬁﬁﬂﬂt&ﬂﬂﬁmﬁnmﬁa%ﬁ

)" a%ma@rqaz, 2012 % o # wrand
(3) ﬁmﬁﬁ%gmmﬂ

‘@ T ek 'aTs"c'.ﬁ %aﬁﬁwﬂ@ﬁ@ﬁ

P-l \ﬂﬁﬂﬁlﬂ\ﬂ@l\ﬂﬂlﬂlﬁlmﬂﬁ




Select the group of poor conductors of heat from the following

(1) Wool, Plastic, Wood “12)  Wool, Wood, Iron

(3) Al-rf Water, COppEr ( %1) All, Wool Alum}mum
freg B R SO 6 FeIE SR B g 4,_1
R TR, TSl (z)w-: 1, v, A
@) 0, 5 el (E) @, T, Tegftem
3

Samar asks his students to consult their {amﬂy members to find

out the names of different food
;tems cooked by different methods like steﬁﬁﬁn , toasting, boilin
eson for this activity is o' (8)] g g, boiling, frymg etc. The most appropriate

(1) encourage home work
(2) encourage experimentation
(3) improve social interaction

(4) provide opportunities for chﬂdren to work in groups

WMW%NW%W%@ﬁ%mm%ﬁéw—wmﬁmm
- Wﬁmwﬁ%mﬁ(mwmﬁ;ﬁmh ¥, O, T G | Hod ST HRT
?1
(1) TEEE R AERaRE :%w |
() I e ;ﬁé |
<(3) wrfe ora:fman H UR ST %
oF

@) == w g e A E MW

0.  Select maximum number of suitable tools of assessment to assess process skills in EVS

(@) Teachers diary (b) Project work
(©) Drawing diagrams (d) Picture reading
(1)  (a), (b) and (d) (2) (@) (b) and (c)
B)  (b), (c) and (d) (f:% (2), () and (d)
5:' ?*»,_ A ; .
;@ﬁgﬁ@ﬁmmmm gﬁf‘{w SR SR h SR HE H1 =
: <
(a) Foner (b, ST
© foa (af 3 fot o
AN (@), (b) (D) &g} (a), (b) 3T (©)
B) () (© @ @ (@) () oM (d)

' D
Pl AR 20



ol ST AT S T, 373 ol i et i a1 o s | e, et @i 35 v @ i

78] ol e el T o, T W 2 S o v wen A o e &, 9 e
1 ¥t Tl o S ¢ |

o, S H A A -

o) ToEE ey wER W () e (4) e g
92, 3 T TS AR Y R - 5
Y] Y
Y aw%rtvﬁaﬂm@w (2) T W SHFA T

(3) T A ¥ foru HeL g A -mﬁﬁaﬁam

B WNEF T R A AR

Q) W =y Q) TEE, siw @
(3) o= W, T HE Sy e R, = e
: %. 'Ieren’ yeg S 1 T T e
o f @ ' = @
s, wm%m' i} Iﬁtrmaqw@m‘@ﬂm
) wem sy W NEgEE @ T
%.  SMonfo & o 3
ﬂ) foraml = e Iﬁ% 2) o=t JeE
(3) @ﬂmwmz (4) WW
% wLvy 1 5T T B
A i e | 6.y
A T @ @) = (@) sigw
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3R T =en
” E«w@i e @
(3) e g, ae-fmi (4) SR, S
9. w-fmmwE L
1) we-fem 0 ST (37 ey o (@) A T
ﬁ%a@mﬁmaﬁwwﬁ(mlm-IOS)%mwﬁmmwwl
TR, fefeTh, YT, SR i O T8 29 ¥, iy
ERIE IR Co kG ke b L{S
W&l T Tl ferrert o SR gR W, B)
o< TreraR <o g for fodie )
IS T et o 3 T
ﬁﬁﬁmﬁ??@ﬁ%ﬁ%ﬁﬁm

100. “Temrers’ w1 diy-frsde -
1) &+ s 2 fem+om

| R v amm ) R s oo
101 E | |

i i e o e e e 9 e i s
1) g=9 ) ﬂa@r@tw \_@ﬁmmﬂ (4) TR
102. "SR’ i ogge g - A aﬁ 4
) <R i Gy
(1) R gr ot (2) %%ﬂ@%’%l B
(@) < H oy, n

104, Eﬁmﬁmaﬁﬁﬁwﬁaﬁﬁﬂi%? 1 s
- et < feemet o

EELRED)
(2) T8 wifs—am o YIRY oo

P ﬁ%ﬁ%mﬁﬁﬁm%ﬁmﬁmﬁm
(4) ﬁﬁﬂ?@ﬁ%ﬁ@ﬁmﬁmaﬁ
105, Wﬁmﬁmﬂ%w%‘rmﬁng%? - f i
JY S drhy g @) TEd e o= 3 ol s (4)3@@;%@?5@“
106. m%ﬁ%&m%mmﬁgﬁaw%wﬁmﬁwﬁﬁ?ﬁ%l o <
T Tl ST % 9 19 s e 2 iy
) T e T3 fr i e e
of AT Y & o ,
A5 T 3 9w e 5 TR B R i f o e e
(4) aﬁ%ﬁﬁﬂtﬁmmmﬁql
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107. foddt 2ffueh W A HeF HT o 9] %ﬁ@mﬁmmmﬁaﬁ}wﬁmmma

T 1 e ¥ Hried i fovg ol 1 9 Y 5 AR Bl F Fed ) | Wity o
. ﬁmﬁw oy e ()
@) T o)

108, TN TSl el At wfed Sl & S __: |

E E E

e

pf = R aRa () frs
(2) == R & e R s

E |

i

a

(3) aﬁﬁwﬁmammﬁg@
(4) = TS % SR fy S

}

2
—

iy

109, Frefefan § A -1 o T o I T €7
(1) T T HE G TE A el |

2) wwawﬁnﬁm&ﬁ%’mmﬁnm@wﬂ%
3y e et e # o w0 3 7w w8

(@) 3w % fere St fafafer 1 A €

110, ST e 5 e 1 SR e e e v e ¥ 9 e w1 < o o
S S T B S T g Y ¥ ST T e € | 5 W o 5 S feie 1 e e
ses e wet S

7 s _ ’(ZT’;;' HEH R W &1

111, o e e T 580 8 T 1 T 6 i 1
. dEME : :—_:'-;1; -- |
(1) T TE (D) s = (3) ;m:ﬁ-q. @ =)

112, SR TEH F FRTAE ST ST A € o e e l
(1) Ted % " § 193 HEH =My
2] SR WA H M
@) feomwg@en i
(4) oo FEYY YEGd ST T

Ljl |I’"!i-h

e

s E

= S=n

113. G § e ST SR STTAM ST T T ¢ |
(1) Wﬁﬂﬁﬁﬂ(@ﬂﬁﬂﬁ)(ﬁ: R HT
114, & WU i T 7 < R fafir ) Pl 3 |
() Ty (SER®) (2) WERE (D 3) fafm . (4) s
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115: %m%mﬁ@%l T e o ST W R m%'mwﬁmqﬁ

) GO (27 W @) T, 4:*_*3,(4) T

oo 1 e s e e :
116, @ T il ST % s e

fpanferdi % fAU A9 R Wa@éﬁm
) mﬁmumwﬁﬁf@aw%mﬁmﬁmm%ﬁ%‘
) %ﬁaﬁﬁﬁaﬁm%maﬁnwmﬁmﬂﬁﬁ%
3) ﬁl&mﬁﬁ'\@ﬁmmﬁa‘@?{%mmﬁq%l £
Mmsﬁﬁwﬁm%%ﬁ%ﬁwmwm 2

(2) AT % WA ST T

R T S T B
Wy TR e o L

119. <& T A R € 6w Aafomen 2 @ v e S
(1) o v W i faaw W T e
A2) S A SR ST el F < erafifed gy 2 |
(3) ﬁﬁhmmﬂ%aﬂaﬁa’awmwmwmﬁa%ﬁﬁ:
(4) T 35 ¥ i st 35 i et s s e
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PART -V
LANGUAGE - Il : ENGLISH

mTANT . Candidates should attempt questions from part-V (Q. No. 121:120), i they have
opted for ENGLISH as LANGUAGE-II only.

i

tead the passage given below and answer the ixfsiions that follow : (121 to 128) ‘
Perhaps the worst of the ordeals was to be shuf in a darkened room for long, uncertain periods, in
olitary confinement and complete silence. Gagarfﬁx];ﬁme[f described the experience.

“There was no sound, not even the slightest.rsstle, No movement of the air—nothing. It was
jncanny, unnerving.”

He would shut his eyes and imagine himself iﬁ%space-cabm in orbit, looking at the world passing

seneath him; or sometimes he would recite half-renfiernbered poetry to himself.

Then, came parachute training. Gagarin ng_@ié forty parachute jumps of gradually increasing
difficulty. _

Oge of the most interesting of the training experiments was the method of providing experience of
weightlessness. In the early stages the express lift of the great Moscow University building was used.
From the twenty-eighth floor to the bottom allowed a/drop of 500 feet. At a certain high speed the
passenger would find himself suspended between the floor and ceiling of the lift without support. This
was a convenient and inexpensive way of reproducing ‘zero gravity’.

Special air brakes prevented the lift from crashing as it reached the bottom.

On the morning of April 12, Gagarin roggTat 5.30. He was zipped into his complicated

space-suit, on top of which went a pale blue fibre s"@%md finally an orange one. Then an Air Force bus
drove him to the launching site in company with Variéus helpers. The gantry lift took him up 100 feet,
to the nose of the rocket, and he entered the cabirt.(fi@med Vostok) with a wave to those below.

B

121. One benefit of travelling in the express lift t6 Gagarin was that :
(1)  he could come down in less time. (2) =he-did not have to pay for it.

(3) itwas very thrilling. 3 \@/’ __he experienced zero gravity.
122. Study the following statements : . %Y ' _ ' LY
(2) “On April 12, Gagarin woke up at 5,00 %= -
(b) He wore a blue space suit. - bl S 4
() He travelled in space in Vostok. giiia ¥ ' i _ D,

)
(1) (a) and (b) are wrong but (c) is right.
"(2) () and (b) are right but (c) is wrong.
) (b) and (c) are right but (a) is wrong.
4 (2) and (c) are right but (b) is wrong.

123. Gagarin was a/an:

(1) paratrooper '-/é @C‘? 1_:raveller
() adventure tourist (4) ¢ physicist at Moscow University
124, ¢ : looking at the world passing beneath hﬁgf? |
The underlined word isa/an .. 51‘1;3 | .
conjunction ~ (2) article ~(38) preposition 4" adverb

g St‘)ld}’ the following statements : : it
2) In his private life Gagarin was a poet.g, =
®) m the I;,xperimentall darkroom there m%ﬁo altiass .
Both (a) and (b) are right. 2) C(a) is right and (b) is wrong,
®) (b) is right and (a) is Wrong: (4) Both (a) and (b) are wrong,

| - 39 .



Fiad
| abm
and he entered the cab

' clause. £ i
P2 Tne undertined is a/an % Adjective  (4) Adverb
BC/'“C:)ordinal‘e (2) " : )
o N t up in a dar ‘room 4 -
127. Gagarin W 851?123“111 elljspace i (2) a pumshmsant
) o fee}(i-ltate (4) as an experiment
s e vyt €
4 enient and inexpensive way . , . g
s % nearest in meaning to the ung_g_zhned one. ey A0
,ghj'ooierackmg (2) contrite 3 3 cordial (4) Thandy

Estic : (129 to 135)
iven below and answer the quéstibns that fOI].O"N’ s |
. ]\t]; . Egrsxi:gtzfn in the mid-1970s was a laid-back place, resembling a remote rural area, except iy
having s};me amenities. Our house was almost at one o there wag ,
 was worshipped by many from the places in th
: Devotees thronged the fair not only

for divine blessings but also for watching street-showsg and
other entertainment events. Only a mud track led to the v

illage and everyone reached there by walking

* enjoying every minute of it. Money saved
journey. Whenever the car

for this fair wou
tjerked or sped away, Would
ot spill out. ' ' L

1d be tucked firmly in my p
hold my pockets tightly so

-time and wort,
ockets during the
that coins woulg
‘The crowd at the temple in the foothﬂi-used tﬁ;lgéu
where prasadam was served. Hot and spicy puffed siee and tea made of jaggery were the delectable
‘combination of food and beverage every devotee cr@ﬁ_ for. e
. Going to the temple used to be the last priority=of us children, 'Fearing elders’ wrath, we would
',hu_xriedly.ﬁlﬁsh' the formality of darshan T ot :
+ - 129. Study the following statements - o
@) o

ghly unor‘garﬁsed, especially the food counter

: S In a separate cartx/ ;
D e)  Wellto-do villagers liked to oblige the writer’s father.
U(é)_-'(a)and(b)aremon ight, resapon g

* (a) and

g but (c) is right
‘ (b) are right but (c) is wrong,
- () (b)and (c) are right but (a) is wrong,
4)  (a)and (9) are right but (b)is wrong, &
130. Which one of the follo I

wing statements is not tﬁ%;
(1) Prasag distributeq th .

ere was very deliciops,s”
a People visiteq the faj

Ir for divine blessings. -
- Most of the People visited the fair only f@ market.f
(4) * Prasad distributiop Was quite chaotic, %] AN
- 131. Which one of the following statements ig trye ? ﬁ;—?
(1) People visited his home town for religiousirehsons also
((27 f1€ Narrator’g home town Was in a remote ‘area
()  Life wag comfortable in all respects ki
(4) Tt wag k i

40 _' _ ‘




32. The devotees thronged the fair,

Choose the option which is nearest in meaning t

; g to the underlined word :
(1) appreciated (2) attackeq | 3) visited 3 M4y crowded
33 ‘Tused to eagerly look forward | _ i |

Choose the word opposite in meanin - = }

to the Todlh |
(1) indifferently  (2) heartily & undeflined one.

L_Fineasily - (4) easily

34. Study the following statements - Y

(a) The writer would be very carefy] while traw:lhng in the cart.

(b) Inspite of the jerks and jolts, the i journey waszerjoyable.

(1) BOHEI (Ef) and (b) are wrong, ((27 (a)its Fight and (b) is wrong.

(3) (b)is right and (a) is wrong, (4) BOB‘FE) and (b) are right.
135. ‘Only @ mud track led to the village’, ' '
The underlined word is a/an

(1) Adverb (2) Noun | (3) Pronoun 4 Adjective

136. At primary level a teacher genera]ly motwates 1earners for colouring and drawing as it helps in :
(1) relaxing the teacher from' teaching, g
@)

engaging learners to maintain silence in thg e Class.

/(3{ developing fine motor skills. * - _ ==
(4) - entertaining learners. '

unq“ il[""'q
G ,,::::;u

Llr

137. The statements that describe the knowledge, skﬂ*i[’s;L
the end of a particular class or course come unders_ :

A foundational literacy outcomes = (2) teachmg outcomes

(3) learning outcomes : (4)

and attitudes that students should acquire by

numeracy outcomes

= =

1“"
l.i F‘

138. A teacher promotes group discussion and peer interaction in her classroom. She does not bother -
to correct spelling or pronunciation errors. She TS Tsing approach in her classroom.

Constructivist (2) Traditional O Slidection - § (4) Structural

139 To teach tense in your class you use two pictures of the same person one picture taken 15 years
ago and another just clicked. You initiate a talk in the class about his present and past - his
appearance, his habits. Now, you are using :

(1) Rule based Grammar @& Prescnptlve Grammar
@) Structural Grammar (4) Pedagogmal Grammar

el Plan on the topic Pol].utacm what wﬂl be your first Step ?
gy E g Sl Foe iy
®) Go through the topics many times (4)*” ~éeleet teaching aids

ET"‘_

141, - When language is learnt naturally and without any. systematic practice, it is called :

(1) Learning (2) Erudition A Acquismon (4)  Acceptance
14, tively whep.they have
Uhildren Joatn a Janguage most effec (2})’ ; Pro}géc ient language teather
motivation :
il btk (4) inhibition

. D
™ My ¥



rs t _ ‘
143. Linguistic competence enable]s. lliame - T
(1) use more and more Engis . '
2) differentiate gfalmﬂaﬁ?any correct and incorrect sentences
/E%)) speak fluently even if not grammatically correct
’ o use the langua i
(4) know how and when 0 U8 &u %’jﬁpropl‘lately

144, A teacher brings real-life objects like umbtella/faificoat, screwdriver etc to her class. She ag

3 1 H R = 2 . ks
Jearners to describe the objects 10 two to Lhree,__%enteﬁces. The materials that the teacher by
the class is technically called

}1») Realia (i) ga_gggulage input
(3) Teaching instruments (4) %g;];g

15. Today Raju is very happy as he is going to schdglJHe is the first from his family
None in his family, not even his parents, ha

learner.
(1) Minority
(3) Second generation

0l,

i to come tg scho
~ever bee i
de g1 been enrolled in any sc =

hool. Raju is thy,
AZJ | First generation
(4) Marginalized

146. One of the important featuresof _is that the learners solve problems fcolleci:'rvely.eithE
in a pair or in a group. B ' :

(1) structural approach _
(2) communicative language teach_ing' o
(3 behaviourist approach gy g:@é
(4) whole language approach

11

147. A teacher asks her learners to write a péragﬁég]g- on ’Water".' Then the l'earhers. start discussh
what they have been taught in science and%ogial science classes. Then they begin to write
paragraph on water. This is an example of : 3£ Z t _

(1) Communicative approach i (2) 'ﬁguage il‘;-liS,e -
(3) Language of science _ . _ danguage across curriculum
You as a teacher find that the language used in the lesson is very difficult for your learners. )
simplify the hnguage and also make certain changes in the contentto suit your learnets.
you have done is calleq s Ty el ¢ :

(1) Review

148,

(2) Adopting k) Adaptation. " (4) Evaluation
149, S

;{h(;g g;;zgm af;lc: brought up in a village wh&ﬁ@%everybody spoke Hindi and you too bega]; “-;
e without goj o : : g
Sanskrit, Hindj ang Ugr ing to any school. Tiater when you went to school you studied E

== g |
language ? du, Now, you speal Ef%lglish very fluent.ly_. Now which is you!

(1)  Sanskrit g '
| (@)  English B Hindi (4) Urdu
150, When you g

s W : : . ¢

swith the o] }‘f‘lt‘; t?achf you find that the textbg:;ifﬁgbegins with rhymes and picture storie$ agag‘
phabet, Which approach does thisliéng of arrangement suggest in language pee

(1) Aesthetic approach

(3)

: 42r IHoftom up approach
op down approach 4) (Eelectic approach
1 )
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